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1. AnNer All questmns \\% 2x10
a a(b +0)
Find the valu ca b(c + a)l.
ab cla+b)
b. “Q , 4
F\Ec; ay when -1] [)] [ ] A
\",&nd the minimum and maximum value of 55 {m\QZ cos X.
\q 4 Find tan( +2 cot™'3). \\3&
e. Determine the ratio in which t‘qﬂ'& segment joining (2,-3)
and (5, 6) isdivided by x —{xl
f Find the perpendi ?.»hlstance trox% the point (2, 1) to the
straight line 12 %r +9= 0
g. Find the equanon of the cg(&l Ich touches the x —axis and
whose centre is at the\ 3,4
h. Find image of the ot (1, -2, 4) with respect to YZ—plane.
i. Find the dxre&mn cosines of a straight line whose dlmcugn\\
rancsm't‘ \ '} .2* . \\\"
J- maﬂxhe ggnﬁ‘e and radius of the sphere \ 3\
{Z\&?x +3z2—-12x—6y+9z+1= 1\\\..
B 1\ N -
{! \ Answer Any Six Questions \\, 6x5
\ A4\
e a. Without expanding prove th\t“’\ -
) Q a @ a \“
b b* b3|=abc(a-b)(b- c)(c—a)
c ¢¢ ¢

b. Solve the following equations by Matrix Method.

x+2y =3 and Ix+y=4




W8 ta
b.
5 a
b.
6 a
b.

b.

" ﬂ:lgassmg through the point (3, 2, 1).

7%

¥

b.

1
sin50°, iint70 ==
ch passes through the

he axes is 14.
the point (2,—2,—1)

Prove that sin10°. sin30".
Find the equation of the straight: Ilhﬁ hi
point (3, 4) and sum of its i tdrlepts on t
Find the equation of ﬂglg‘t\\ Passing through

and parallel to the ﬁlane 2x +y—3z—2=0. 4
Find the e t‘in“n “of the sphere whose centre at (3,1, —2)an

thes l%‘?'espassmg through the point (1, 1, 2)-
If \aﬁ x +tan"ly +tan 4 Z= 7, show that x +y + 2z = XyZ.

‘%ﬁ AV
Solve the followi &etmatlons by Cramer’s Rule, 5

2x—3y +5% D and 5y —3x—8=0
Find, E’é ation of the plane passing through the interaction of 5

Ia»nes‘ 2x+3y—4z+1=0 and 3x- y+zQ‘gA%0 and

Find the equation of the circle which p&s%e@sthrough the points
(1,—-2) and (4,—3) and has tim@infre lies on the line

3x+4y =17.
if the point{x;v), \;, “ L) aiid \J,“*“‘Tj—afe‘fﬁu ar, ==

prove thatx +y ¢

Find the equatlﬁp Of the cpher&%ﬁﬁ?ﬁg through (1, 2,—3)and 5
| 5

(3,—1, 2) and centre lymi @%Xm—ams
IfA+B+C =m, A\
Prove that sin?2 2A I4+5in 2B + sin2C = 4sinAsin Bsin C.

In a AABGJF, mZA = 90° , prove that tan™ 1— + tan™?
S

where** a, bhahd c are the sides of the trlangle &\
Verlfy that [AB]T = BT AT, A\
A

"2

a0 here a=[1 2 %] ana 5= | 20}

~2 & b1

N.@

2x+3y+11=0and sum of its intercepts on the axes is 15.
If A+ B = 45", showthat (1+tan4) (1+tanB) = 2.

2
2

»7 a Find the equation of a sgralgh line parallel to the line 6

4
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N 2x10
Fin * 38
d M,; and C3;, of the determinant[6 7 5].
b 9 0 6

Find k for which th i
e following lines are i
2.x+3y-1=0 ey perpendicular to each other
€. Findsin(tan™!x + cot™1x).
d. Find the centre and radius of the sphere
(x=2)(x+2)+y24+(z-3)(z+3) =0
e. If[3 4 2]xB=[2 1 0 3 6).Findorderof B

f.  Whatis ASTC Rule in Trigonometry?

8- |f the equation 3x2% — Syz — 6x 4+ 9y — 3 = 0 represents acircle,

find k.
h. Aline makes angle a, 8,y with X,Y,Z axes, then find

sin®a + sin?p + sin®y.
I Find the multiplicative inverse of the matrix(é i)

j.  Find the intercepts cut off by the plane 2x+3y-z=6 on the axes.

2. Answer Any Six Questions 5X6

a. Find the angle between two lines whose direction ratios

are(1,2,1) and (2,-3,4).
b. Find the equation of the circle whose diameter is the portion of the

line 3x+4y-12=0 intercepted between the coordinate axes.
¢. Prove without expanding

a a* ad
p b2 b3|=abc(a—b)(b—c)(c—a)
c ¢ ¢3

d. Find the maximum and minimum value of the following

6cosx —8sinx —3
Find the equation of the line which passes through (-3, 7) and makes

intercepts on the axes equal in magnitude but opposite in sign.



N

In a triangle ABC if m£A = 90° prove that
£ =ZI whereab,care sides of the triangle.

= L -1
sl a+c +tan a+b 4 ‘
I, where [ is the identity matrx

of the given order.

Answer any three questions

Find the equation of the line passing throu
lines x +3y—7=0and3x-y—11=
triangle whose vertices are the points (3,-1),(1,3) and

gh intersection of the
0 and centroid of the
(2, 4).

Evaluate sin 18°. 5
7

Find the equation of the plane passing through the point (-1, 3, 2)
and perpendicular to the planes x+2y+22=5 and 3x+3y+22=8.

Solve by Cramer’s Rule
2x+3y=1 and —x+y=-3

If A+ B+ C = m, prove that 10
sin?A + sin?B + sin®C = 2 + 2cos Acos B cos C

Find the equation of a sphere whose centre lies on the plane 10

x + y + z = 0 and which passes through the points (1,-3,4),(1,-5,2)

and (1,-3,0) .

Vi-sinx+yl+sinx
Evaluate tan™? }
Vi-sinx—-v1+sinx

Find the value of ‘@’ so that the points (1, 4),(2,7),(3,3) are collinear.

4
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Answer All questions

Find the value of
cos 15—sin 15

Find the value of tan~} (Z cos f—)
3
The maximum value of \szx SINXCOSX
) —C0SX sinx
Find the value of k if the lines 2x — 3y+7= 0 and

perpendicular to each other.

2 4 1 5 )
fA= = f A— 2B
if A (3 13) and B (2 2) ,then find the value © A

Find centre and radius of sphere X y—22~ 1=0

x—-ky+2:—‘()are

2+yz—i~z2——’2.x——2
ts (—1 —1,2) and (1,1 1) is2 _then find

if the distance between the poin

the value ofz
to XY - pPlane

Find the image of the point (3,1 5) with respect
- oction ratios are al 1)

Find the direction cosines ofal
Find the Value of sin70 (4cos?20 — 3)

Answer Any six Questions
Solve by Cramer’'s ru
Find the equation of
point (1 2).

prove that sin

circle having centre @ .

20 sin40 sin60 sin80 = -';‘g

Find angle between the planes 2x ¥~ 3z+2=0 and
Ix—yt+2z+ 3=0
2 1 -2
Find Inverse of the matrix { 1 2 1
3 6 4

iftan™tx + tan 'y + tan~1 z =  then prove thatx +y +2=XY2

le 2x-3y=7 and 3x-2y=3
| passes through the

6 X3



equation of line

g Find the
line4x+y—-3 =0
Prove that without expanding
a—b—¢C
2b
2c
y—1= 0

ugh intersection of lines 2X —
2 =0

on of line passing thro
thelinex +Y —

Find the equati
6 =0 and parallel to
3

and3x —4y +

i in—1—= o
Find the value of sin”" 7= + cos™ 5
which the line segment joining the points

Find the ratio and co-ordinate in
,6,—2) is divided by ZX-Plane

(1,3,—1)and (2

Solve by matrix method
x-—y+z=4,2x+y—32=0,x+y+z=2
Find the equation of plane passing through the points (2,—3 1) and
2y +5z+1= 0

(-1,1,-7) and perpendicular to the plane X —

10

10

10
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